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PHYSICAL EDUCATION

Paper — Il
1. Match the following by using code : 3.
List—| List—II
I. Formal system 1. Thermae
of Spartan
Education
II. Institutions of 2. Agoge

higher learning
lll. Public Baths with 3. School of

Sports and Fitness ~ grammatics
Clubs
IV. Arthurian Wrestling 4. Palestra
School
5. Gladitorious
Code :
I Il Il v
(A) 2 3 1 4
(B) 2 3 5 1
©) 3 2 4 5
(D) 2 1 4 5
2. System of cleaning internal organs
I. Nauli
Il. Neti
lIl. Dhouti

IV. Kapalabhati

(A) 1,11, 11l are correct
(B) HI, 11,1V are correct
(C) I, 1l are correct

(D) 1,1V are correct

The basic structural units of proteins are
(A) Tryglycerides

(B) Amino acids

(C) Phospholipids

(D) Disaccharides

. Assertion (A) : Extrinsic motivation is

the sole motivator for
elite sports performance.

Reasoning (R): Extrinsic motivation kills
the elite sports
performance.

(A) (A)iswrong and (R) is correct
(B) Both (A) and (R) are correct
(C) Both (A) and (R) are wrong

(D) (A) is correct and (R) is not right
explanation of (A)

. At which of the following sites pulse can

be palpated ?
(A) Elbow
(B) Chest
(C) Palm
(D) Thigh

. How many times do our Kidneys filter

blood in our body per one hour ?
(A) Once

(B) Twice

(C) Thrice

(D) Four times
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7.

10.

Attempt to do more work than they can
physically tolerate

(A) Detraining
(B) Overtraining
(C) Retraining
(D) Super compensation
Match the following by using code :
List—1 List—II
I. Hydrotherapy 1. Hot bag
Il. Cryotherapy 2. Ultra sound
lll. Electrotherapy 3. Whirl pool
Thermotherapy 4. Cold compression
5. Ultratherapy

Code :

IV
(A)
(B)
(®)
(D) 1

O N w —
N B D
AR ADN
g w w Pk

Teacher has to maintain his/her
(A) Status with students

(B) Distance with pupil

(C) Both A and B are true

(D) None of the above
Assertion (A) : Of all the principles of
sports training, the
principle of training load
and recovery is
important.

Reasoning (R): Any mistake adhering to
this principle will
prevent the sports
person from attaining
high performance.

(A) (A)is correct (R) is wrong
(B) (R)is correct (A) is wrong
(C) Both (A) and (R) are wrong
(D) Both (A) and (R) are correct

11.

12.

13.

Match the following by using code :
List—1 List—II
I. Cyanocobalamin 1. B12 Vitamin
[Il. Thiamine 2. B1 Vitamin
lll. Niacin 3. 83 Vitamin
IV. Ascorbic Acid 4. C Vitamin
5. 82 Vitamin
Code:
I Il Il v
(A) 1 2 3 5
(B) 2 3 4 5
© 5 1 2 3
(D) 1 2 3 4
Match the vitamin with their symptoms of
deficiency :
List—1 List—II
[. D vitamin 1. Muscular dystrophy
IIl. E vitamin 2. Retarted blood
clotting
ll. A vitamin 3. Night blindness
IV. K vitamin 4. Beriberi
5. Rickets
Code:
I Il Il v
(A) 1 5 3 2
(B) 5 1 2 3
© 5 1 3 2
(D) 4 3 2 1
Which is the house keeping system of the

body ?

(A) Peripheral Nervous System

(B) Sympathetic Nervous System

(C) Para Sympathetic Nervous System
(D) None of the above
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14. Long distance runners require
I. Speed endurance
Il. Cardio respiratory endurance
ll. Coordination
IV. Muscular endurance
(A) land IV are correct
(B) lland IV are correct
(C) llland IV are correct

(D) I'and Il are correct

15. Hewitt tennis test includes
I. Fore hand drive placement
Il. Drive for distance placement
lll. Back hand drive placement

IV. Service placement
(A) I, lland IV are correct
(B) I, lland Il are correct
(C) I, Nand IV are correct

(D) I, llland IV are correct

16. The formula used for measures of

variability
Xid® _(2fd)?
(5

I. AM+[2l‘\fld:|>< i

DM
. Spm

Q;-Q
V. %

(A) land Il are correct
(B) land IV are correct
(C) lland Il are correct
(D) llland IV are correct
17. Single score that represents all the scores

in a distribution

I. Mean

Il. Standard deviation
ll. Median
IV. Quartile deviation
(A) land Il are correct
(B) lland Il are correct
(C) land Il are correct

(D) llland IV are correct
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18.

19.

20.

21.

Side effects of blood doping are
I. Cardiac arrest
Il. Cardiac hypertrophy
lIl. Bacterial infection
IV. Obesity
(A) land Il are correct
(B) land Il are correct
(C) I, land Il are correct
(D) lis correct, Il is wrong
Presence of eating disorder, amenorrhea
and osteoporosis is referred as
(A) Male and female triad
(B) Male athlete triad
(C) Female athlete triad
(D) None of the above

Identify the correct order of correlation
(A) —1.00 through + 0.05

(B) +1.00 through—1.00

(C) +1.00t0 0.00

(D) —1.00t0 0.00

Arrange the following in sequence
I. Reaction speed

Il. Accelerated speed

lll. Maximum speed

IV. Movement speed

(A) Reaction speed, movement speed,
accelerated speed, maximum speed

(B) Movement speed, reaction speed,
maximum speed, accelerated speed

(C) Movement speed, reaction speed,
accelerated speed, maximum speed

(D) Reaction speed, accelerated speed,
movement speed, maximum speed

22.

23.

24.

Elite athletes use drugs
not knowing the side
effects.

Assertion (A) :

Reasoning (R): The drug abuse helps

the elite athletes in
performance.

(A) (A) is correct (R) is not the correct
explanation of (A)

(B) (R)is false and (A) is correct
(C) Both (R) and (A) are correct
(D) Both (R) and (A) are wrong

Assertion (A) : Management involves

planning, organising,
administering and
supervising the work.

Reasoning (R) : Well begun is half done.

(A) Both (A) and (R) are correctand (R) is
the correct explanation

(B) Both (A) and (R) are correct but (R) is
not correct explanation

(C) (A)is correct but (R) is wrong

(D) (A) is wrong but (R) is correct

What punishment given to the cheaters in
the ancient Olympics ?

(A) Drowned

(B) Hanged

(C) Beaten with hunters

(D) Detained
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25.

26.

Sequence of events in the modern

Pentathlon Olympics

(A) Shooting, Swimming, Crosscountry,

Fencing, Riding

(B) Fencing, Shooting, Crosscountry,

Riding, Swimming

(C) Swimming, Shooting, Fencing, Cross-

country, Riding

(D) Riding, Fencing, Shooting,

Swimming, Crosscountry

Assertion (A) : The Management and
Professional Sports like
cricket, football,
baseball, basketball
recruit players with very

high pay.

Reasoning (R): The above statement

says one can decide
that players play for the

sake of money only.
(A) Both (A) and (R) are correct
(B) (A)iswrong but (R) is correct
(C) (A) is correct but (R) is wrong

(D) Both (A) and (R) are wrong

27.

28.

Match the following by using code :
List—1 List—II
I. Time Table 1. Course of study
offered by an
institution
Il. Syllabus 2. Adocumentincluding
all the learning
experience provided
to the students
lll. Curriculum 3. Outline of contents
IV. Professional 4. Adocumentshowing
Ethics what to be done by
whom and at what
time
Code:
I Il Il v
(A) 4 3 1 2
(B) 3 4 1 2
© 4 3 2 1
(D) 3 1 2 4
Write the correct sequence of rhythmic

command

(A) Executive, explanatory, rhythmic
command, halt

(B) Explanatory, executive, rhythmic
command, halt

(C) Rhythmic command, executive,
explanatory, halt

(D) Halt, executive, explanatory, rhythmic
command
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29. Match the following by using code :

List—1
I. Carbohydrates
Il. Fats
lll. Proteins

Minerals

Code :

I I
(A) 5
(B) 5
(©) 5
(D) 4

B RN P

30.
List—|

I. Takshashila 1.

. Citius 2.

ll. Ludwig John 3.

List—II
1. Phospholipids
2. Ascorbic acid
3. Amino acids
4. Phosphorus
5

. Mono saccharides

1l A
3 4
4 1
3 2
3 2

Match the following by using code :

List—1I
Faster
Higher
Archery

31. Match the following by using code :

32.

List—1 List—II
[ ‘t'test 1. Median
[Il. Mid pointof 2. More than two
distribution groups
lll. Negative SD 3. Two means
indicates
IV. Analysis of 4. Computational
variance error
5. Degree of relationship
Code :
I Il Il v
(A) 2 4 1 5
(B) 4 2 3 1
©) 1 5 2 4
(D) 3 1 4 2

Match the following by using code :

. Axis, Resistance,

List—1 List—1I
Force, Axis, 1. ll class lever
Resistance

. Axis 2. lll class lever

3. I class lever

IV. Altius 4. Turnverian movement Force
5. Olympic flame IV. Axis, Force, 4. Joint
Resistance
Code :
Code :
| Il il v
| Il il v
(A) 3 1 4 2 A) 3 ) 1 4
(B) 1 2 3 4 (B) 3 4 1 2
(®) 3 1 2 1 (C) 2 1 4 3
(D) 5 4 3 1 (D) 4 3 2 1
Mires A-17-03




33.

34.

35.

Navicular drop is associated with
(A) Ear function

(B) Eye function

(C) Foot and eye function

(D) Foot function

Identify the event which works on
Aerodynamic principle

(A) Long jump

(B) Hammer throw

(C) Javelin throw

(D) Shot-put

Mechanical efficiency of lever depends
(A) Only on force arm

(B) Ratio between force arm and
resistance arm

(C) Only on resistance
(D) Only on Axis

38.

39.

If a test measures as accurately as
possible, what the test ought to measure ?

(A) Reliability

(B) Objectivity

(C) Validity

(D) Norm

Assertion (A) : Training load is a
psychological and

physiological demands
put on the human body
through motor stimulus.

Reasoning (R): Training load is a
process based on
scientific and

pedagogical principles
to achieve higher
performance.

(A) (A) and (R) are correct
(B) (A)is correct but (R) is wrong
(C) (A) and (R) are wrong

36. Assertion (A) : Library is the store (D) (A) is wrong but (R) is correct
house of knowledge. 40. Match the following by using code :
Reasoning (R): Present database List —| List—II
replaced the library. L Anxiety L SAT
(%) Both () and () are correct Il. Agression 2. MAP
(B) ((af\()loi;l ﬁg;irggt and (R) is not the correct Il Personality 3. GEQ
(C) (R)is correct and (A) is wrong IV. Aptitude 4. SCAT
(D) (A) is correct and (R) is the correct 5. BIDR
explanation Code -
37. Product of body’s mass and its velocity is I I Il [\
(A) Torque (A) 2 5 4 3
(B) Work (B) 3 2 1 4
(C) Power (C) 1 4 3 5
(D) Momentum (D) 4 3 2 1
3 A-17-03|




41.

42.

43.

44,

Write the Olympics venues in order
(A) Rome, London, Berlin, Helsinki
(B) Berlin, Rome, London, Helsinki
(C) London, Berlin, Rome, Helsinki
(D) Berlin, London, Helsinki, Rome

Assertion (A) : All men are mortal,
Socrates is a man.

Reasoning (R): Socrates is mortal.

(A) (A)iscorrect

(B) (R) is correct

(C) (A) is correct and (R) is the correct
explanation

(D) (A) is correct and (R) is not correct
explanation

According to W.H.O. the concept of health
focusses on

(A) Total well being

(B) Mental health

(C) Physical health

(D) Freedom from diseases

Match the following by using code :

List—1 List—II
I. Growth 1. Progressive change
towards greater
maturity
Il. Development 2. Qualitative change
after maturity
lll. Maturation 3. Increase in size and
shape
IV. Learning 4. Modification in
behaviour
5. Change in character
Code :
I Il Il v
(A) 3 1 2 4
(B) 5 1 2 3
©) 4 5 1 2
(D) 3 2 1 4

45.

46.

47.

Which of the following statement is not true ?

(A) Median is a measure of central
tendency

(B) Median divides the group into two
equal half

(C) Median is a score

(D) Median is a point

Ergogenic Aids helps to
I. Increase strength and endurance

Il. Increase concentration

lll. Increase pain

IV. Early onset of fatigue
(A) land Il are correct
(B) Iland Il are correct
(C) land IV are correct
(D) llland IV are correct
Observation as atool for
research data gathering
process demands
rigorous adherance to

the spirit of scientific
enquiry.

Assertion (A) :

Observation collected in
such away to make sure
that they are valid and
reliable.

Reasoning (R):

(A) (A)is correct but (R) is wrong
(B) (R) is correct but (A) is wrong
(C) Both (A) and (R) are wrong
(D) Both (A) and (R) are correct

3
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48. Match the following by using code : 51. Women athletic performance hindered

due to
List—1 List—1I . Ammenoria
I Myology 1. Cells Il. Dehydration
I Histol > Muscl lIl. Eating disorder
. Histolo . Muscles
ay IV. Cold condition
lll. Hemodynamics 3. Kidneys (A) Iand IV are correct
IV. Nephrology 4. Blood flow (B) landlilare correct
(C) land Il are correct
5. Nerves
(D) llland IV are correct
Code : 52. Assertion (A) : Until puberty male and
female do not differ
| I Il vV significantly in most of
the measurement of
(A) 2 1 4 5 body size and
composition.
(B) 2 1 5 3
Reasoning (R) : Performance is equal in
(©) 2 1 4 3 males and females
before puberty.
(D) 5 4 3 1 _ _p Y
(A) (A) is wrong but (R) is correct
49. Winning in sports depends on learning of (B) (,?)(E)correct (R) is correct explanation
0

fundamentals in following sequence . _
(C) (A) is correct (R) is not correct

(A) Tactics, skill, technique, strategy explanation of (A)

D) Both (A) and (R) are correct
(B) Technique, skill, strategy, tactics (D) (A) and (R)

. . . 53. Write the following steps in order to
(C) Skill, strategy, tactics, technique prepare a standardized test.

(D) Strategy, skill, tactics, technique (A) Testing of validity, testing of reliability,
preparation of final form, preparation

. . f prelimi f
50. The major horizontal Adductor of the ot prefiminary form

. (B) Testing of validity, testing of reliability,
shoulder is preparation of preliminary form,

(A) Posterior deltoid preparation of final form

(C) Testing of validity, preparation of
(B) Teres minor preliminary form, preparation of final
form, testing of reliability

(C) Bicep (D) Testing of reliability, testing of validity,

preparation of final form, preparation

(D) Anterior deltoid of preliminary form

1l 8 11 A-17-03




54. Joint in nervous system is called 57. Assertion (A) : In cricket umpire calls

(A) Synapse and signals dead ball.
(B) Mazelin fiber _ .
Reasoning (R): When a player is
(C) Axon -
injured.
(D) Impulse

(A) Both (A) and (R) are correct

55. Match the following by using code : ) _
(B) (A) is correct and (R) is one of the

List—1 List—1I )
explanations
|. Asana 1. Breath control

o (C) (A)iscorrectand (R) is not the correct
Il. Pranayama 2. Self realization

explanation
lll. Dhyana 3. Posture
. : D) (A) is correct and (R) is the correct
IV. Samadhi 4. Concentration D) (A (R) 1
explanation
5. Yama
. 58. Which of the following statement about the
Code :
| I " IV first modern Olympic games was true ?
(A) 1 2 3 4 (A) All the participating members were
®B) 5 > 4 3 female
(C) 4 5 2 1 (B) All the participating members were
(D) 3 1 4 2 male
56. Which of the following helps to measure (C) All the participating members were
explosive strength ? from Greek
I. Standing Broad Jump (D) All the participating members were
. Sit-ups Romans

ll. Vertical Jump
IV. Pull-up

59. Write the colours of Olympics rings in order

(A) 1and Il ¢ (A) Black, Yellow, Blue, Green, Red
and lll are correc

(B) Iand Il are correct (B) Blue, Yellow, Black, Green, Red

(C) lland Il are correct (C) Yellow, Blue, Black, Green, Red

(D) Iand IV are correct (D) Green, Blue, Yellow, Black, Red
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60. Match the following by using code : 63. Which of the following sequence is correct ?

List —1 List—1I (A) Pie-chart, Histogram, Bardiagram,
I. Kraus Weber test 1. Badminton Graphical representation
Il. Sargenttest 2. Cardiovascular efficiency (B) Range, QD, MD, Mean
1. Tuttle pulse ratio test 3. Motor ability (C) Type | error, Type Il error, Null
IV. Stimulatory response 4. Muscular strength hypothesis, Linear regression
5. Volleyball (D) Normal scale, Ordinal scale, Ratio
Code - scale, ‘t’ scale
I Il Il vV 64. Personality and Social behaviour are
(A) 2 5 3 1 strongly affected by
(B) 3 2 4 1 I. Social force
(©) 4 1 2 3 II. Biological force
(D) 4 3 2 1 ll. Family force
61. The plane divides the body into top and IV. Economical force
bottom halves is called
(A) Anteroposterior plane (A) land IV are correct
(B) Horizontal plane (B) landllare correct
(C) Coronal plane (C) lland Il are correct

(D) Sagittal plane (D) liland IV are correct

62. Match the following by using code : 65. In which plane forward and backward

List - List—Il movements occur ?
I. Lung capacity 1. Ergometer (A) Frontal plane
[Il. Endurance 2. Goniometer
ll. Strength 3. Spirometer (B) Transverse plane
IV. Flexibility 4. Dynamometer (C) Cardinal planes
5. Stadiometer (D) Sagittal plane
Code: 66. ‘F’ ratio is used to compare
' I i v (A) More than two standard deviations
() 3 1 2 4 (B) Less than two means
(B) 5 2 1 3
©) 3 1 4 2 (C) More than two means
(D) 4 3 2 1 (D) None of the above
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67. Assertion (A) : Atraining load produce
super compensation
effect can be used again
further to improve

training state.

After occurrence of
super compensation,

Reasoning (R):

load should be
increased during the
next adaptation.

(A) Both (A) and (R) are correct
(B) Both (A) and (R) are wrong
(C) (A)is correct but (R) is wrong
(D) (A) is wrong but (R) is correct

68. Total amount of blood
pumped out by left
ventricle in one heart
beat is called stroke

volume.

Assertion (A) :

. The amount of air
inhaled or exhaled
during single breath is
called Tidal volume.

Reason (R)

(A) (A)is correct but (R) is wrong
(B) (A)is wrong but (R) is correct
(C) (A) and (R) are correct
(D) (A) and (R) are wrong

69. Angular velocity is denoted by
(A) Alpha

(B) Omega

(C) Theta

(D) Gamma

Read the following passage and answer the
guestions from Q. No. 70 to Q. No. 75.

Anyone who has been involved in any team
sport knows the value of cohesiveness.
Coaches try to develop cohesiveness in their
teams because they believe cohesive teams win
more games. Surely you have heard spectators
and sports announcers as well as coaches and
players praise the unity, teamwork and
cohesiveness of successful teams, especially
when the teams win without individual
superstars. Conversely lack of cohesion or team
dissension is often cited when a team of talented
individuals fails to meet expectations. Given the
popularity of cohesiveness in sports talk, it is
not surprising that cohesiveness is a popular
research topic. Many sport psychologists have
examined the relationship between
cohesiveness and team performance, and
according to the results we can answer the
question ‘Do cohesive teams win more games ?’
with ‘yes’ ‘no’ and ‘may be’.

Some evidence does indicate a positive
relationship between team cohesiveness and
team success. One of the most extensive and
representative investigations in the sport
cohesiveness literature, involving over 1, 200
male intramural basketball players on 144
teams provides strong evidence that team
cohesiveness and success are positively
related. In the previous study of the overall
investigation of Martens and Peterson (1971)
examined the influence of preseason
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cohesiveness on team success and reported
that highly cohesive teams won more games
than teams with low cohesiveness. In the third
study Peterson and Martens (1972) looked at
the influence of team success on post season
cohesiveness and observed that successful
teams were more cohesive than less successful
teams.

Obviously, further research does not always
clarify or help us to understand a phenomenon
especially if the research is haphazard with no
systematic progression that builds upon extends
previous work. As Carron (1982) notes to date
the overall strategy of sport cohesiveness
research can be described as a generally erratic
‘shotgun’ approach, no overall conceptual
model has emerged to integrate the findings on
any meaningul way, and as with the sport
personality research, the findings are as diverse
as the studies themselves.

70. The team can win without superstars, if
they possess team
(A) Tactics
(B) Cohesiveness
(C) Aggressiveness

(D) Team game

71. The antonym for lack of team cohesion is
(A) Team work

(B) Team tactics

(C) Team dynamics

(D) Team dissension

72.

73.

74.

75.

In which study, the conceptual team
cohesive module was developed ?

(A) Martens

(B) Peterson

(C) Carron

(D) None of the above

The team with high cohesiveness before

competition led to team success is
conclusion of

(A) Carren (1982)

(B) Peterson and Martens (1972)

(C) Martens and Peterson (1971)

(D) Both B and C are correct

The passage basically aim to give the
concept of

(A) Team cohesiveness

(B) Cohesiveness in sports

(C) Cohesiveness and performance

(D) None of the above

Who conducted study on 1200 male
basket ball players ?

(A) Carron (1982)

(B) Peterson and Martens (1972)

(C) Martens (1971)

(D) None of the above
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Space for Rough Work
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